TOURATECH | 22

TOURING RALLYE RACING TECHNOLOGY

Zertifikat 15 100 42285

=

Juli 2004
01-040-0664-0 Anbauadapter fiir GPS
01-040-0665-0 auf Lenkerklemmung R1200GS

Lieferumfang: | ' il

4 x Spezial Schrauben

2 x Haltewinkel

1 x Querrohr

2 x Schraube Liko Méx12

4 x Schraube 6-Kant M5x10
2 x U-Scheibe M6

4 x U-Scheibe M5
Kabelbinder

Montage:
Losen Sie die Schrauben der Lenkerklemmung
und ersetzen Sie diese durch die vier
Spezialschrauben. Gewinde der Schrauben
unbedingt einfetften.

Lenkerklemmung wieder anziehen.

Jetzt die beiden Haltewinkel je nach Wunsch
mit der Bohrung nach vorne oder hinten auf
die Spezialschrauben setzen und mit den
Mb5x10 Sechskantschraulbben anschrauben.
Querrohr einsetzen und mit den Mé x 12 Liko
zwischen den Winkeln anschrauben . Jetzt alle
Schrauben anziehen.

Gaszug mit Kabelbinder am rechten
Haltewinkel befestigen.(Sonst scheuert der
Gaszug durch. Jetrzt GPS-Halter an
Anbauadapter anschrauben.

DA
Sehen Sie auch in unserem Katalog oder im Internet unter WWW.TOURATECH.DE.

Diese Anleitung ist nach unserem derzeitigen Kenntnisstand verfasst. Rechtliche Anspriiche auf Richtigkeit bestehen nicht. Technische Anderungen vorbehalten.



TOURATECH | 22

TOURING RALLYE RACING TECHNOLOGY

Zertifikat 15 100 42285

=

01-040-0664-0 Installation Instructions
01-040-0665-0 GPS Mount Adapter R1200GS
Contains: . - © /7

4 x Special Screws

2 x Triangular bar holding bracket
1 x 4 inch round bar

2 x Screw dome head Méx12

4 x Screw hex M5x10

2 x Washer M6

4 x Washer M5

Cable ties

Installation:

Loosen the handlebar clamp screws and replace
them with the supplied Touratech special screws.

It is recommended to screw the bolts in all the way
by hand (with upper clamp portion removed). Also
recommended to use anti-seize on threads. Anti-
sieze is a messy gray thread lubricant, you will know
it if it is there. Sometimes the BMW shop has
already used anti-seize.

Tighten the handlebar clamps and install the
friangular bar holding brackets with the M5x10 hex
screws and washers M5.

You can choose to install the brackets so that the
bar will either be front or back.

Install the bar with the Méx12 screws and washers
o the friangular bar brackets. Zip ties can be used
if the throftle cable rubs against the right bracket.
Now you can install Touratech GPS mount on the
bar.

These instructions are at our current level of knowledge. Legal requirements do not exist. Technical issues subject to change.



	Seite1
	Seite2

